Utilities & Environmental Services

2008 Enterprise Drive Round Rock, Texas 78664

19

20

21

22

23

18" Wet Connection

24" Wet Connection

30" Wet Connection

30" DI Waterline

12" DI Waterline

BIDS EXTENDED AND CHECKED

BY: <u>SLK</u> DATE: 5/30/2019

BID TABULATION

2

1

13

42

EA

EΑ

EA

LF

LF

\$3,535.00

\$3,535.00

\$3,535.00

\$431.00

\$120.00

SHEET: 1 of 5

										SE	IEET: 1 of 5
	ACT : Pressure Reducing Valves 2, 4 d Line Extension		Prota Construction Inc. and Prota Inc, JV		Austin Underground, Inc.		Austin Engineering Co. Inc.		Patin Construction LLC		
LOCATION: 2008 Enterprise Drive				Statement of Sat	fety? Yes	Statement of Saf	fety? Yes	Statement of Safety? Yes		Statement of Safety? Yes	
DATE:	5/28/2019			Addendum(s)?	Yes	Addendum(s)?	Yes	Addendum(s)? Yes		Addendum(s)? Ye	S
						Bid Bond? Yes		Bid Bond? Yes		Bid Bond? Yes	
BASE BID											
		APPROX.		UNIT		UNIT		UNIT		UNIT	
ITEM#	ITEM DESCRIPTION	QTY.	UNIT	PRICE	COST	PRICE	COST	PRICE	COST	PRICE	COST
1	Bid Bonds	1	LS	\$17,208.00	\$17,208.00	\$12,500.00	\$12,500.00	\$15,000.00	\$15,000.00	\$5,000.00	\$5,000.00
2	Mobilization	1	LS	\$35,000.00	\$35,000.00	\$41,500.00	\$41,500.00	\$35,000.00	\$35,000.00	\$48,000.00	\$48,000.00
3	Ground Water Control	400	LF	\$17.00	\$6,800.00	\$1.00	\$400.00	\$10.00	\$4,000.00	\$5.00	\$2,000.00
4	Erosion Control Log	670	LF	\$15.00	\$10,050.00	\$11.00	\$7,370.00	\$10.00	\$6,700.00	\$7.50	\$5,025.00
5	Site Restoration	225	LF	\$23.00	\$5,175.00	\$23.00	\$5,175.00	\$40.00	\$9,000.00	\$5.00	\$1,125.00
6	Block Sodding	376	SY	\$22.00	\$8,272.00	\$12.00	\$4,512.00	\$13.00	\$4,888.00	\$7.00	\$2,632.00
7	Remove-Replace Bared Wire Fence	50	LF	\$21.00	\$1,050.00	\$30.00	\$1,500.00	\$15.00	\$750.00	\$40.00	\$2,000.00
8	Remove-Replace Chain Link Fence	15	LF	\$158.00	\$2,370.00	\$55.00	\$825.00	\$100.00	\$1,500.00	\$100.00	\$1,500.00
9	Trench Safety	268	LF	\$9.00	\$2,412.00	\$5.00	\$1,340.00	\$50.00	\$13,400.00	\$2.00	\$536.00
10	Portable Concrete Wash-out	4	EA	\$783.00	\$3,132.00	\$660.00	\$2,640.00	\$2,000.00	\$8,000.00	\$750.00	\$3,000.00
11	PRV 2-Furnish & Install	1	LS	\$121,060.00	\$121,060.00	\$125,000.00	\$125,000.00	\$140,000.00	\$140,000.00	\$162,000.00	\$162,000.00
12	PRV 4- Furnish & Install	1	LS	\$134,078.00	\$134,078.00	\$138,000.00	\$138,000.00	\$166,000.00	\$166,000.00	\$165,000.00	\$165,000.00
13	PRV 9- Furnish & Install	1	LS	\$157,327.00	\$157,327.00	\$177,000.00	\$177,000.00	\$195,000.00	\$195,000.00	\$195,000.00	\$195,000.00
14	BCRUA- Furnish & Install PRV	1	LS	\$64,702.00	\$64,702.00	\$90,000.00	\$90,000.00	\$76,000.00	\$76,000.00	\$122,000.00	\$122,000.00
15	Furnish & Install Flow Meter Vault	1	LS	\$66,144.00	\$66,144.00	\$75,000.00	\$75,000.00	\$84,000.00	\$84,000.00	\$112,000.00	\$112,000.00
16	Abandon Manhole	1	EA	\$2,492.00	\$2,492.00	\$10,000.00	\$10,000.00	\$2,000.00	\$2,000.00	\$500.00	\$500.00
17	Remove & Dispose Manhole	3	EA	\$2,748.00	\$8,244.00	\$11,000.00	\$33,000.00	\$2,750.00	\$8,250.00	\$1,000.00	\$3,000.00
18	12" Wet Connection	2	EA	\$3,535.00	\$7,070.00	\$2,000.00	\$4,000.00	\$2,500.00	\$5,000.00	\$4,000.00	\$8,000.00

\$7,070.00

\$3,535.00

\$3,535.00

\$5,603.00

\$5,040.00

\$4,000.00

\$4,600.00

\$8,000.00

\$1,000.00

\$210.00

\$8,000.00

\$4,600.00

\$8,000.00

\$13,000.00

\$8,820.00

\$3,500.00

\$7,000.00

\$10,000.00

\$1,000.00

\$100.00

\$7,000.00

\$7,000.00

\$10,000.00

\$13,000.00

\$4,200.00

\$5,000.00

\$6,000.00

\$10,000.00

\$1,000.00

\$75.00

\$10,000.00

\$6,000.00

\$10,000.00

\$13,000.00

\$3,150.00

Utilities & Environmental Services

2008 Enterprise Drive

Round Rock, Texas 78664

BIDS EXTENDED AND CHECKED

BY: SLK

DATE: 5/30/2019

BID TABULATION CONT.

SHEET: 2 of 5

\$990,393.00

	CONTRACT : Pressure Reducing Valves 2, 4, 9 and BCRUA Valve and Line Extension			Prota Construction Inc. and Prota Inc, JV Austin Underground, Inc.		Austin Engineering Co. Inc.		Patin Construction LLC			
LOCATION: 2008 Enterprise Drive			Statement of Safe	Statement of Safety? Yes		Statement of Safety? Yes		ety? Yes	Statement of Safety? Yes		
DATE:	DATE: 5/28/2019			Addendum(s)? Y	Zes –	Addendum(s)?)? Yes Addendum(s)?		Yes	Addendum(s)? Ye	s
			Bid Bond? Yes		Bid Bond? Yes		Bid Bond? Yes		Bid Bond? Yes		
24	16" DI Waterline	180	LF	\$124.00	\$22,320.00	\$99.00	\$17,820.00	\$150.00	\$27,000.00	\$100.00	\$18,000.00
25	18" DI Waterline	5	LF	\$522.00	\$2,610.00	\$560.00	\$2,800.00	\$180.00	\$900.00	\$250.00	\$1,250.00
26	12" Gate Valve & Box	3	EA	\$3,988.00	\$11,964.00	\$4,000.00	\$12,000.00	\$3,000.00	\$9,000.00	\$4,500.00	\$13,500.00
27	18" Gate Valve & Box	2	EA	\$15,523.00	\$31,046.00	\$16,000.00	\$32,000.00	\$20,000.00	\$40,000.00	\$13,000.00	\$26,000.00
28	Fittings & Install 30" Valve	1	EA	\$22,815.00	\$22,815.00	\$8,600.00	\$8,600.00	\$15,000.00	\$15,000.00	\$10,000.00	\$10,000.00
29	Ductile Iron Fitting 24"	0.1	Ton	\$201,150.00	\$20,115.00	\$5,000.00	\$500.00	\$47,000.00	\$4,700.00	\$50,000.00	\$5,000.00
30	Remove & Dispose Sidewalk	68	SY	\$42.00	\$2,856.00	\$57.00	\$3,876.00	\$6.00	\$408.00	\$25.00	\$1,700.00
31	4" Sidewalk	55	SY	\$62.00	\$3,410.00	\$100.00	\$5,500.00	\$85.00	\$4,675.00	\$45.00	\$2,475.00
	TOTAL BASE BID:		\$794,505.00		\$855,278.00		\$917,371.00		\$958,393.00		

Totals in red (\$XXXX.XX) indicate adjustment upon tabulation of bids.

		APPROX.		UNIT		UNIT		UNIT		UNIT	
ITEM#	ITEM DESCRIPTION	QTY.	UNIT	PRICE	COST	PRICE	COST	PRICE	COST	PRICE	COST
32	Excavation Around Obstructions	100	CY	\$90.00	\$9,000.00	\$50.00	\$5,000.00	\$150.00	\$15,000.00	\$20.00	\$2,000.00
33	Mobilize/Demobilize	1	EA	\$6,028.00	\$6,028.00	\$3,000.00	\$3,000.00	\$5,000.00	\$5,000.00	\$15,000.00	\$15,000.00
34	Extra Hand Excavation	50	CY	\$110.00	\$5,500.00	\$150.00	\$7,500.00	\$150.00	\$7,500.00	\$15.00	\$750.00
35	Extra Machine Excavation	50	CY	\$65.00	\$3,250.00	\$30.00	\$1,500.00	\$100.00	\$5,000.00	\$20.00	\$1,000.00
36	Extra Placement of Backfill Material	50	CY	\$65.00	\$3,250.00	\$35.00	\$1,750.00	\$100.00	\$5,000.00	\$10.00	\$500.00
37	Extra Ductile Iron Fittings 24"	0.25	TON	\$181,150.00	\$45,287.50	\$30,000.00	\$7,500.00	\$47,000.00	\$11,750.00	\$50,000.00	\$12,500.00
38	Extra Sidewalk	50	SF	\$56.00	\$2,800.00	\$15.00	\$750.00	\$85.00	\$4,250.00	\$5.00	\$250.00
	TOTAL ADD ALTERNATE NO.1:			·	\$75,115.50		\$27,000.00		\$53,500.00		\$32,000.00

TOTAL BASE BID	\$794,505.00	\$855,278.00	\$917,371.00	\$958,393.00

\$882,278.00

\$970,871.00

\$869,620.50

Totals in red (\$XXXX.XX) indicate adjustment upon tabulation of bids.

TOTAL BASE BID + ADD ALTERNATE NO.1:

Utilities & Environmental Services

2008 Enterprise Drive Round Rock, Texas 78664

BIDS EXTENDED AND CHECKED

BY: SLK DATE: 5/30/2019

BID TABULATION CONT.

SHEET: 3 of 5

										SI	HEET: 3 of 5
	ACT: Pressure Reducing Valves 2, 4 d Line Extension	, 9 and BC	RUA	Santa Clara Co	nstruction, Ltd.	Aaron Concrete Contractors, LP		Black Castle General Contractor			
LOCATI	ON: 2008 Enterprise Drive			Statement of Safety? Yes		Statement of Safety? Yes		Statement of Safety? Yes		Statement of Safet	y?
DATE:	5/28/2019			Addendum(s)?	Yes	Addendum(s)?	Yes	Addendum(s)?	Yes	Addendum(s)?	•
				Bid Bond? Yes		Bid Bond? Yes		Bid Bond? Yes		Bid Bond?	
					BASI	E BID					
		APPROX.		UNIT		UNIT		UNIT		UNIT	
ITEM#	ITEM DESCRIPTION	QTY.	UNIT	PRICE	COST	PRICE	COST	PRICE	COST	PRICE	COST
1	Bid Bonds	1	LS	\$16,875.00	\$16,875.00	\$25,000.00	\$25,000.00	\$35,000.00	\$35,000.00		\$0.00
2	Mobilization	1	LS	\$20,000.00	\$20,000.00	\$50,000.00	\$50,000.00	\$61,100.00	\$61,100.00		\$0.00
3	Ground Water Control	400	LF	\$12.50	\$5,000.00	\$10.00	\$4,000.00	\$31.00	\$12,400.00		\$0.00
4	Erosion Control Log	670	LF	\$16.25	\$10,887.50	\$14.00	\$9,380.00	\$9.00	\$6,030.00		\$0.00
5	Site Restoration	225	LF	\$10.00	\$2,250.00	\$20.00	\$4,500.00	\$13.00	\$2,925.00		\$0.00
6	Block Sodding	376	SY	\$7.00	\$2,632.00	\$15.00	\$5,640.00	\$9.00	\$3,384.00		\$0.00
7	Remove-Replace Bared Wire Fence	50	LF	\$25.00	\$1,250.00	\$80.00	\$4,000.00	\$13.00	\$650.00		\$0.00
8	Remove-Replace Chain Link Fence	15	LF	\$50.00	\$750.00	\$200.00	\$3,000.00	\$25.00	\$375.00		\$0.00
9	Trench Safety	268	LF	\$1.00	\$268.00	\$10.00	\$2,680.00	\$3.00	\$804.00		\$0.00
10	Portable Concrete Wash-out	4	EA	\$250.00	\$1,000.00	\$5,000.00	\$20,000.00	\$250.00	\$1,000.00		\$0.00
11	PRV 2-Furnish & Install	1	LS	\$160,400.00	\$160,400.00	\$144,000.00	\$144,000.00	\$247,700.00	\$247,700.00		\$0.00
12	PRV 4- Furnish & Install	1	LS	\$180,700.00	\$180,700.00	\$203,000.00	\$203,000.00	\$244,100.00	\$244,100.00		\$0.00
13	PRV 9- Furnish & Install	1	LS	\$236,000.00	\$236,000.00	\$189,000.00	\$189,000.00	\$275,000.00	\$275,000.00		\$0.00
14	BCRUA- Furnish & Install PRV	1	LS	\$101,200.00	\$101,200.00	\$70,000.00	\$70,000.00	\$90,500.00	\$90,500.00		\$0.00
15	Furnish & Install Flow Meter Vault	1	LS	\$89,400.00	\$89,400.00	\$125,000.00	\$125,000.00	\$186,400.00	\$186,400.00		\$0.00
16	Abandon Manhole	1	EA	\$2,000.00	\$2,000.00	\$2,000.00	\$2,000.00	\$4,600.00	\$4,600.00		\$0.00
17	Remove & Dispose Manhole	3	EA	\$1,000.00	\$3,000.00	\$1,600.00	\$4,800.00	\$6,400.00	\$19,200.00		\$0.00
18	12" Wet Connection	2	EA	\$5,220.00	\$10,440.00	\$4,200.00	\$8,400.00	\$4,000.00	\$8,000.00		\$0.00
19	18" Wet Connection	2	EA	\$5,240.00	\$10,480.00	\$5,000.00	\$10,000.00	\$4,300.00	\$8,600.00		\$0.00
20	24" Wet Connection	1	EA	\$5,400.00	\$5,400.00	\$6,000.00	\$6,000.00	\$4,900.00	\$4,900.00		\$0.00
21	30" Wet Connection	1	EA	\$17,600.00	\$17,600.00	\$8,000.00	\$8,000.00	\$10,200.00	\$10,200.00		\$0.00
22	30" DI Waterline	13	LF	\$1,210.00	\$15,730.00	\$920.00	\$11,960.00	\$1,200.00	\$15,600.00		\$0.00
23	12" DI Waterline	42	LF	\$120.00	\$5,040.00	\$300.00	\$12,600.00	\$155.00	\$6,510.00		\$0.00

Unit prices in red (\$XX.XX) indicate incorrect written unit price entered by bidder.

Utilities & Environmental Services

2008 Enterprise Drive

Round Rock, Texas 78664

BIDS EXTENDED AND CHECKED

BY: SLK

DATE: 5/30/2019

\$1,339,540.00

\$1,361,640.00

BID TABULATION CONT.

SHEET: 4 of 5

\$0.00

CONTRACT: Pressure Reducing Valves 2, 4, 9 and BCRUA Valve and Line Extension			Santa Clara Construction, Ltd. Aaron Concrete Contractors, LP		Black Castle General Contractor						
LOCATI	ON: 2008 Enterprise Drive			Statement of Safety? Yes		Statement of Safety? Yes		Statement of Safety? Yes		Statement of Safet	y?
DATE:	DATE: 5/28/2019		Addendum(s)?	Yes	Addendum(s)?	Yes	Addendum(s)?	Yes	Addendum(s)?		
			Bid Bond? Yes		Bid Bond? Yes		Bid Bond? Yes		Bid Bond?		
24	16" DI Waterline	180	LF	\$140.00	\$25,200.00	\$265.00	\$47,700.00	\$109.00	\$19,620.00		\$0.00
25	18" DI Waterline	5	LF	\$190.00	\$950.00	\$1,200.00	\$6,000.00	\$1,100.00	\$5,500.00		\$0.00
26	12" Gate Valve & Box	3	EA	\$4,000.00	\$12,000.00	\$4,000.00	\$12,000.00	\$5,700.00	\$17,100.00		\$0.00
27	18" Gate Valve & Box	2	EA	\$18,500.00	\$37,000.00	\$12,000.00	\$24,000.00	\$16,200.00	\$32,400.00		\$0.00
28	Fittings & Install 30" Valve	1	EA	\$47,300.00	\$47,300.00	\$7,000.00	\$7,000.00	\$8,500.00	\$8,500.00		\$0.00
29	Ductile Iron Fitting 24"	0.1	Ton	\$44,000.00	\$4,400.00	\$80,000.00	\$8,000.00	\$35,200.00	\$3,520.00		\$0.00
30	Remove & Dispose Sidewalk	68	SY	\$10.00	\$680.00	\$71.00	\$4,828.00	\$34.00	\$2,312.00		\$0.00
31	4" Sidewalk	55	SY	\$45.00	\$2,475.00	\$202.00	\$11,110.00	\$102.00	\$5,610.00		\$0.00
	TOTAL BASE BID:			\$1,028,307.50		\$1,043,598.00		\$1,339,540.00		\$0.00	

Unit prices in red (\$XX.XX) indicate incorrect written unit price entered by bidder.

		APPROX.		UNIT		UNIT		UNIT		UNIT	
ITEM#	ITEM DESCRIPTION	QTY.	UNIT	PRICE	COST	PRICE	COST	PRICE	COST	PRICE	COST
32	Excavation Around Obstructions	100	CY	\$50.00	\$5,000.00	\$165.00	\$16,500.00	\$31.00	\$3,100.00		\$0.00
33	Mobilize/Demobilize	1	EA	\$5,000.00	\$5,000.00	\$5,500.00	\$5,500.00	\$13,000.00	\$13,000.00		\$0.00
34	Extra Hand Excavation	50	CY	\$150.00	\$7,500.00	\$300.00	\$15,000.00	\$19.00	\$950.00		\$0.00
35	Extra Machine Excavation	50	CY	\$50.00	\$2,500.00	\$100.00	\$5,000.00	\$16.00	\$800.00		\$0.00
36	Extra Placement of Backfill Material	50	CY	\$35.00	\$1,750.00	\$300.00	\$15,000.00	\$10.00	\$500.00		\$0.00
37	Extra Ductile Iron Fittings 24"	0.25	TON	\$44,000.00	\$11,000.00	\$80,000.00	\$20,000.00	\$13,000.00	\$3,250.00		\$0.00
38	Extra Sidewalk	50	SF	\$20.00	\$1,000.00	\$71.00	\$3,550.00	\$10.00	\$500.00		\$0.00
	TOTAL ADD ALTERNATE NO.1:				\$33,750.00		\$80,550.00		\$22,100.00		\$0.00

\$1,028,307.50

\$1,062,057.50

\$1,043,598.00

\$1,124,148.00

Unit prices in red (\$XX.XX) indicate incorrect written unit price entered by bidder.

TOTAL BASE BID

TOTAL BASE BID + ADD ALTERNATE NO.1:

THE CITY OF ROUND ROCK				BIDS EXTEND	ED AND CHECKED
Utilities & Environmental Services					
008 Enterprise Drive				BY: SLK	
Round Rock, Texas 78664				DATE: <u>5/30/2019</u>	
	BI	D TABULATIO	N SUMMARY		
					SHEET: 5 of 5
CONTRACT: Pressure Reducing Valves 2, 4, 9 and BC Valve and Line Extension	CRUA	Prota Construction Inc. and Prota Inc, JV	Austin Underground, Inc.	Austin Engineering Co. Inc.	Patin Construction LLC
LOCATION: 2008 Enterprise Drive		Statement of Safety? Yes	Statement of Safety? Yes	Statement of Safety? Yes	Statement of Safety? Yes
DATE: 5/28/2019	Addendum(s)? Yes	Addendum(s)? Yes	Addendum(s)? Yes	Addendum(s)? Yes	
		Bid Bond? Yes	Bid Bond? Yes	Bid Bond? Yes	Bid Bond? Yes
TOTAL BASE BID:		\$794,505.00	\$855,278.00	\$917,371.00	\$958,393.0
TOTAL ADD ALTERNATE NO.1:		\$75,115.50	\$27,000.00	\$53,500.00	\$32,000.0
TOTAL BASE BID + ADD ALTERNATE NO.1:		\$869,620.50	\$882,278.00	\$970,871.00	\$990,393.0
Fotals in red (\$XXXX.XX) indicate adjustment upon tabulat	ion of bids.				
		Santa Clara Construction, Ltd.	Aaron Concrete Contractors, LP	Black Castle General Contractor	
		Statement of Safety? Yes	Statement of Safety? Yes	Statement of Safety? Yes	Statement of Safety?
		Addendum(s)? Yes	Addendum(s)? Yes	Addendum(s)? Yes	Addendum(s)?
		Bid Bond? Yes	Bid Bond? Yes	Bid Bond? Yes	Bid Bond?
TOTAL BASE BID:		\$1,028,307.50	\$1,043,598.00	\$1,339,540.00	\$0.0
TOTAL ADD ALTERNATE NO.1:		\$33,750.00	\$80,550.00	\$22,100.00	\$0.0
TOTAL BASE BID + ADD ALTERNATE NO.1:		\$1,062,057.50	\$1,124,148.00	\$1,361,640.00	\$0.0